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Solutions-Problem set 4(section 3.4)
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B-S AS
Firsk, dien Kr(A)= din Yor(B)  becawm
X ke (B) , BX=0 , Thwn §ASR=0 =, AST=0=> 57 € k()
. L& J?,-_ (V\,m,?;?) be & bamis {« kur (B) . Sinee SV, "”’SVP ot in kur(R)
Span (9 ,---/SU?) <= km(H)
Simee S s inverille ) ! C SV +---+Cp 7\>=3 AN C\V\*-~-+C?VF:3
— Ci=..-=Gp=0

Thara{ova S, 1+ SVp - ane Q;w\\‘ indup-

TH Y in kr(a), ten AS(S 9)=0 > B(S)=0 > S clunca)
= S‘\S = C|\7| oo CP—\./P = 8 = C.SV| —Iv-‘—*'CPSVP
=> —8 é—grmﬁ(sv\ r~“lSV‘,)

—’”\W\ lef(A S“wm (S\q /SV => dim k'((A)= P= O{A(Y\ kl”(B)
o dim |<J-'( (A)‘\‘ r&hk(lq\= n P VOm‘((A]= VGKV\‘C(B)

dirn Kur (B)  rank (B) =1 dhim ko (A
dirm kor (B)
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